%& ()% (*




# # ]
$%&'( ") *+,-$. &+*/ ] 0$*1)- -$ -$(/*+! 2$.31 4$5* 5&*4 &4 .'$(+ (, +$$4%4! +,-8./ ("
-+S&6(/*." '8 *. ("M (14 6 &+H/*+% . ++$./* +,'38¢% & $ (M. 4SS+, ($ %2/ (+4 ,$.& F+& $-(.$6S+ 1.)*+4% $(, *,
$. 66$+4%4!
$'3$ -+$&6(/*. )*+4$, ($'&5$ 1 $$  (+4 $7&* $0$) /'S 6(*+/$+(+.$! 28.31 (BG+8B( 4(6(%S$! '(+/ (* &)
[ 12$ )*+4% 2&45513$$ 1. +/(6*+(+/[$BA/ (6*+*6&6 19 6*. + (+4 208 (8(/S ,F-(/ ! $,&$1%/*+%, ($*+% 4
AR+ B0, ($,&5:8./ 1 8F( &+4% + 6(1 -$ (4% . +4** +)1 [*, $.665+484 [ 38B- (($.)*+4% (' 3%  $-(* 3% +2(+4!
*+ ($,&5:8.// 88( &+4$ + 6( -$ (/* +% . +4*/* +, (+4 ,2 &'4 5% $-'(.$4 82%+8 +!
$-'(.$ 828+ 4(6(%$4 8 +!
8*.2%, 6() 1(*' (+4 +$$4 $-'(.$6B+/;*/ *, $.66$+4$4 / 3$$- (,-($.,8%.2 +2(+4!

< !

(&./0 %1&& )

/ ! "#$ %

ot s #



(0+- , -0+ -+((HN%

[cIr[T]- ‘HENE

Series
T PCT Body Options
C PCS Body G Electric actuator
M PCM Body T Retractable cartridge

Pin Diameter*
12.00-16.00 T Series

16.01-25.00 C Series Backup
25.01-40.00 M Series Std  Standard Backup
*Pin diameter to 2 decimal places Long Long Backup
(Backups must be ordered separately)

Pin Type

A Bullet Nose Pin w/ fingers at 0°

B Bullet Nose Pin w/ fingers at 90°

C Bullet Nose 2-way Pin w/ fingers @ 0° ** Cartridge ordering examples:

D Bullet Nose 2-way Pin w/ fingers @ 90° ** C-CRT-16.00-A-STD

E Low Profile Pin w/ fingers at 0° M-CRT-40.00-B-LONG

F Low Profile Pin w/ fingers at 90° C-CRT-19.00-A-STD-T

G Low Profile 2-Way Pin w/ fingers @ 0° **

H Low Profile 2-Way Pin w/ fingers @ 90° **

** Not available on PCT with pin diameters 12.00 - 12.99

( O+- |, [+-2.
" " S
+>-
-lE|O0|6|C]|- -

Series

T PCT Body Options

C PCS Body A Std Steel Backup

M PCM Body B Steel Long Backup

C Alum Bronze Backup

Pin Diameter* D Alum Bronze Long Backup
12.00-16.00 T Series
16.01-25.00 C Series Backup Distance
25.01-40.00 M Series K 14mm (for clamping range 0.1 - 4mm)
*Pin diameter to 2 decimal places N 17mm (for clamping range 4.1 - 7mm)
Backup Diameter

035-050 (835-350mm) C & T Series
051-075 (851-d75mm) M Series

Backup ordering example:
CE06C-16.00-035-K-A

ot s #



~+((*) (O+-

@=A 9 66

=!
?!
9!
B!

Cl
E!
G!

$6 0$.)*+4$ ,.$8,1 6 (&I -($' I$ - 1'.(/*+ -* |

$6 07496 )*+4$ | *4$ )*+4$ | $6 0$.&-B 63%),' /!

$6 0% .03 -'(/$,. $8, @=A" $6 0% . 0% -'(/$

$6 0%/*4 % ,. $8!

$6 03 "$ -*+,.$8,'.38(,2%,! $60% ' '$ -*+!

$6 03 .(/ *4%$!

2%+ *+,/("*+% (+$8 .(/ *4%$" 6(35 ,& $HAEHLH($ 1'&,2/ /25 -*+
(+412$ ' 1*, *$+/(/$4 (, ,2 8+!

$-&-"$@D A S +/*4%, $8551 $(,$65)!

- % $(SF/ $+4 1 "$ *+ (+4 *+*4$.48- 5 4)!

$*+,/(" . 6- +$+/, *+ $0%.,$ 4% !
$1 $*+,/("+% /2% .)*+4$ (,,$65")" 6(3$ B.(/ *4%$ 6 0%, 1 $$')
8- (+4 4 8+ (+4 /2% 1*+%$ , SH/$+4 (+4 $/ (F)!-$(0*+% /2%

(1 *4%S *+ 2% $/ (IS4 - *1* + 8+ 6(3 HB( *+$ &- /2% .)*+4$
1 12% 38%),' / 82%+ $<(//(.2*+%!

(.3&- 6() +$$4 / 53 $6 034 *1 $-'(*+% ( .(/*4%S$ 8*/2 4(6(%$4

5 3%+ 1*+%$,

ot s #



+((*) (O+- , 3&(., % 1( (+- -40,* (

I $60$.)*+4$ ,.$8,1 6 (J&( (S I$ - I'.(F+, -*
| $6 0%+% .)*+4$ | *4$ )*+4$ /| $60%.% 1 633),' /!

I $60$.(-,.$8, @ Al $6 0% .(-! $6 03 -*/ +!

=l $603 $/(/.)*+4$!

2 $60$.0$ -(/$,. $8, @=A" $6 0$. 0% -'(/B

9 $60$/*4%,.$8!

B! $6 03 -*+,. $8, ' .3 8(,2%,! $6 0% -*+!

C!  $60$.(/*4%$!

E! 2%+ *+/("+% (+$8 .(/ *4%$" 6(3$ ,& $HIELX($ 1'&,2/ /2%
(44128, 1 *, *S+/(/$4 (, ,2 8+!

G $-&-$@D A .$ +/*4%, $85%5 $(,$65")!

I =) %S$(SF/ $+4 1-*/+ (+4/ -*/+,$(' 581 $(,,$65)! $

&S -F )+ B( B4 - -$)!

") % $(,$F *+,*4$ -+ '(6- 5 4) 5$1 $ *+ 16+% .(/ *4%$!

S+ /(" . 6- +$+/, *+ $0%,$ 43!

= $1 S+ I(H+% 123 ) *+4S (,,$65')" 6(3$$&( / *4%$ 6 0$,
1$$) &- (+4 4 8+ (+4 /2% 1*+%$ , SH/$+4 (#4 B (!
$(0%+% /2% .(/ *4%S$ *+ 125 $/ (/B4 - */* 6(8% */ $(*$ | *+$
&-12% )*+4$ | 2% 3$),' 1 82+ $<(//(.2*+%!

(.38 6() +$34 / 5% $6 034 *1 $-'(*+% ( .(/*4%$ 8*/2
4(6(%$4 5 3%+ 1*+%6$ !

@A

ot s #



—+((*) ((O+-

, 5 0)+-4-40 * (%

SENSORS CAN BE MOVED FOR
DESIRED SENSING. SENSOR
POSITION SHOULD BE VERIFIED
AFTER CARTRIDGE INSTALLATION

(1) M3 X 16 LONG
USE PURPLE (#222MS) LOCTITE
BEFORE RE-ASSEMBLY

2) REMOVE COVER PLATE
(3) M5 X 10 LONG SHCS

QUPLER SLIDES INTO KEYSLOT ON
BOTTOM OF CARTRIDGE

1) REMOVE ACTUATOR PLATE WITH
CYLINDER ATTACHED. SLIDE TOWARD
SWITCH-SEE KEY SLOT IN

BOTTOM OF CARTRIDGE

(4) M6 X 30 LONG SHCS

5) REMOVE CARTRIDGE NOTE ORIENTATION OF

KEYSLOT FOR CYLINDER COUPLE

PORTS BEFORE REMOVING

BOTTOM PLUG CAN BE REMOVED TO
MANUALLY EXTEND LOCATING PIN
AND RETRACT CLAMP FINGERS.
A 3/4-16 X 1 1/2 BOLT WILL BE
3TAPFORTRIPDOG  pEQUIRED TO ADVANGE PISTON.

PIN CLAMP CARTRIDGE REMOVE AND REPLACE:

BEFORE REMOVAL, PIN MUST BE IN THE EXTENDED POSITION AND CLAMP FINGERS BELOW
FLUSH. MAINTAINING AIR ON THE CYLINDER HELPS OPERATION ESPECIALLY WITH A SPRING TOOLS REQUIRED

RETRACT CYLINDER . IF AIR CANNOT BE MAINTAINED, REMOVAL OF THE BOTTOM PLUG MAY
BE REQUIRED TO KEEP PISTON ADVANCED. SEE CALLOUT AT BOTTOM PLUG.

2 12mm, 3mm, 4mm, S5mm

HEX KEY WRENCHES
REMOVE COMPONENTS PER STEPS 1-5. NEEDLE NOSE PLIERS
PURPLE LOCTITE #222MS
WHEN INSTALLING A NEW CARTRIDGE, MAKE SURE THE FINGERS ARE FLUSH TO THE PIN AND
THE SLOT IS ORIENTATED AS SHOWN.
REINSTALL COMPONENTS IN REVERSE ORDER. BEFORE INSTALLING THE CYLINDER
ASSEMBLY. MAKE SURE CARTRIDGE MOVES FREELY UP & DOWN AND THE FINGERS EXTEND
AND RETRACT PROPERLY. LEAVING THE CARTRIDGE IN THE RETRACTED POSITION WILL MAKE
IT EASIER TO LINE UP THE CYLINDER TO THE KEYSLOT WHEN RE-ATTACHING.
! Illlll#ll $ #



—+((*) (O+- ,50)+4-40,*( 1/&0 & % -1




—+((*) (O0+- ,50)+4-40,*( 1/&0 & , %0

| |
> |
!
I I
=
! =?7<B <"
21
! B
9!
| @A
! @A
B! @A
|

cl "@?A B

Al
!
E!
G! 1
@
|
|
!
! =7<B #!
|
I
!
66 !
=I <
< |
?! =7<B
9!

EJ
i
!
!
@ "B A
!
?2A !
!
!
@A
@
Al
!
!
!
!
!
! @?A B
!
! K
!
!
[ % |
!
! @
!
!
N !

ot s #



*

, 34 ) .+ -+ +&(%

(0+-)O0)+-4+- +&( 1, +- .+ &(

?!
9!
B!

Cl!
E!
G!

% (5 (&, @ (+4 A" SHISH4 . & &, *+% (¢!
LSS (S, 1 ) HAS " $B(S (F) /B4 (L 4+
$6 0% .)*+4% ,.$8,1 6 (J&({/ -'(/$! I1$ - 1'.([*+,
-* | $6 0%+% .)*+4$ ! *4$ )*+4% /| $680 &-'$ 1 6
3%),' /!
$6 03 '$%(.) (J&(/ -'(/$!

'$(+ 5 4) ,& 1(.$!

% (5 (&Y, @ (+4 ASH/$+4 . & 1+38
)*+4AS &FH+% (K- R+ (N +!
+/(" +$8 (4(-/$ -'(/$/ &+*/ 5 4)!

%+ +$8 (J&(/ . &'$ / 3%), /!

+I1("+$8 (J&(/ | (4(-I$ -'(/$8*2 @ A$8,>".3

8(,28 " + I*+% - /' .(I* +!




_(O+_

. +- .+ &(%

F

D B=<
@ A
@
F < B?<<B
K"t < B?<<B
= < B=<<B
K" < B=<<B
F < B=<<B <<
>
K"t < B=<<B <<
@ A
@
< E<G
K"t < E<G
< G?<<B
K" < G?<<B
<
< <G
K" < <G
< ?7<<B
>
K" < ?7<<B
< G<G
K"t < G<G
< <<B
>
K" < <<B
9 E<E << <=7%E
<| =
< G?<<B <<
>
Kt < G?7<<B <<

"E S #




% (_0+-

, +- .+ &%

F

D < B=<
@ A
@
F < B=<<B
K" < B=<<B
F < B=<<B <<
>
K" < B=<<B <<
@ A
@
< E<G
K" < E<G
< G?<<B
Kt < G?<<B
<
< <G
K" < <G
< ?7<<B
>
Kt < ?7<<B
< G<G
K" < G<G
< <<B
>
Kt < <<B
9 E<E << <=%E
<| =
< G?<<B <<
>
Kt < G?<<B <<

g g

#




- ( 0+- |, +- .+ &%
=
D < B=<
@ A
@
F e < B=<<B
K"t < B=<<B
F < B=<<B <<
>
K"t < B=<<B <<
@ A
@
e <G<G
K" < G<G
e < G?7<<B
K" < G?<<B
<
e < <G
K" < <G
> e < <<B
K" < <<B
e < GE<G
K < GE<G
e < GC<<B
>
K" < GC<<B
9 E<E -
< ==<<=?C E
< |
< G?<<B <<
>
K" < G?<<B <<
nnu#n $ #




40 * (% +0(0+- ,5 - 6!-%2

)*+4$ $( 3 *+.'&4$, $+4 .(- $(, @ A" 4B, @ A" -*/+ . $( @ A" S +( - /
B( @ A" %&, 45(*+%! $(,.2&45% &'(&*+$")/ (0*4 .)*+4$ 1(*& $!

406 () (J&(, @ (+4 ASHIS+HA . &'B.*+% (* !

LSS (S, ) ) A5 $S(S (+) /(-4

L)

$6 08 )*+4$ . $8,1 6 (J&U -($! /$- ['.0*+
<% [ $60%49% )*+4$ | *4$ )*+4$ | $E0 &S 1 6
3%), ' @ $$.(/ *4%$ $-'(.$6$+ ,2$%/ 1 A%/(

(,,$65")! _ > )\

| $60$ (/5 8%, @Al ,$+,. $8, $+ &%2 / $'5(,$ /&5$ $+4 .(
| $9($8+4 (- (. @ Al @ A

=l S-S+,

20 $N($HS (- 1,5(, @ A!

9! 36035 (+4 $-'(.$-*/+,5("

B!  $60$ %&, 5$(*+% (+4 8*-$,0%( 1 +/ 1@+4 [*+% *$+/(/* +!
$-'(.$!

C!l $(,,$65'6 &+*/ 6(3*+% ,& $ *+/$ +(' - / ,B($(+ -'(.$ (+4 .)*+4%
1&5% *, (*%+$4 . $./)! *+%/ 7&$ 8 $+.2%%%0p*+4% ,.$8,/ ?
1/''5!

El + /("0 &%, +/(" (* *+$," 6(3%&% 12$) ($1$$ 1
. H(6*+(+,!




% -1 3&(+ &,
Description
Reorder # Mfr. Part Number Manufacturer All switches Quick Disconnect
SWA Ni2-Q6.5-AP6-0.1-FS 4.4X3/S304 Turck 4-Wire, 4-Pin, DC M12 X 1 (PNP)
0 SWB Ni2-Q6.5-ADZ32-0.1-FSB 5.4X4/S304 Turck 4-Wire, 5-Pin, AC/DC 1/2-20 (N.O.)
(&)
6 SWC Ni2-Q6.5-AN6-0.1-FS 4.4X3/S304 Turck 4-Wire, 4-Pin, DC M12 X 1 (NPN)
=
(% SWD NBN2-F581-100S6-E8-V1 Pepperl & Fuchs |  4-Wire, 4-Pin, DCM12 X 1 (PNP)
g SWE BES-Z02KR2-PSC20F-P100-S04-V Balluff 3-Wire, 4-Pin, DCM12 X 1 (PNP)
o
= SWJ IN5374 Efector 3-Wire, 4-Pin, DC M12 X 1 (PNP)
SWz WWS001A Welker 4-Wire, 4-Pin, DC M12 X 1 (PNP)
SWITCH L3: Weld field immune*, comparable : )
SWITCHL3 . > Welker 4-Wire, 4-Pin, DC M12 X 1 (PNP)
to World Sw itches. Dual sensor
— 0
q) q) . . . * .
T C |switcHias| SWITCHLSS: Weld field immune*. Single Welker 3-Wire, 4-Pin, DC M12 X 1 (PNP)
£ O sensor switch for retract cylinder
5 (% MK5113
SWITCHL5 Single switch: 2 required per cylinder; ifm Efector 3-Wire, 4-Pin, DC M12 X 1 (NPN)
1 required for retract cylinder

F I$/2(/, 6% 6% (+4' 8 1 $7&$+.)

Standard Switch Option - All other options may affe

ct price and delivery

$H(+.$ (-*.(* +, @HI$! (&6*+8&6 $,*/(+.$ 85'4*+5. (1 + A 6()

(&S (L& +/28,$ (--"*.(/* +," * *, $.66$4%4 /2(/ 12$ ,$+, 5% *%+ $4 5)-(,,$4 4& *+BH2E%+% .).'$!

g #

$




